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Math 7/7-Plus Unit 8 Statistics Review: Box-Plots, Central Tendency, and MAD (}/\,

Frnd the five-number summary and create a box and whisker plot from the following set of data.
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c.) What percent of data lies between 98 and 110? lc. L [
d.) What percent of data lies between 98 and 118? 1d. 50'/ '
e.) What is the Inter-quartile range (IQR)? 1€~ 9% le. 20
f.) What is the mean of all the data in problem 12 [[0¢ /1o 1. Jlo.b
2. Use the data table below to find the Mean and the Mean Absolute Deviation (MAD). Round td nearest tenth. \
Winning Scores in Colltege Football Winning Scores
Bow! Games, 2007-2008
s DO N e e . Absolute
Game and Winning School g::;z Ra DXaia~viean Value
Alamo Bowl, Penn State 24 24 4 "3‘1‘.7 /0.7
Cotion Bowl, Missouri 38 38 38-34.7 33
Fiesta Bowl, W. Virginia 48 48 N8 -34,7 /3.3
Gator Bowd, Texas Tech 31 31 3l- 34.7 3,7
Holiday Bowl, Texas Tech 52 K2 52~ 34,7 /7. 3
! Lit:erty Bowl, Mississippi State 10 10 /0... 3q.7 ;"f. 7
‘; New _Orira{\s Bowd, F.cmd? Aﬂ&mlc _ 44 44 L{q,‘sq.r, q 3
Orange Bowl, Kaneas 24 24 A4- 24" IO' 1
t Rose Bowl, USC 2" B'-I."? , 3:7
| S“ %7(-; - 49 AH9- 341 1%.3
| Mjar L Geurga 41
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Mean: 4.7 ] Mean Absolute Deviation: 1L

3. Use the double box-and-whisker plot below to answer 3a-f with TRUE for a true statement

and FALSE for a false statement.
Corn Yield by State
(bushels per acre)

2007 ._.+ Pt

] | | i 1 ! l L 1

S R g g P
. Iras. The range in 2007 is larger than the range in 2003. <
. _Falos,  Since the 2007's box-and-whisker plot is longer, there is more data for 2007.
. JAwg.  Overall, 2003 was a better year for corn production.
. Tag, The inter-quartile range of 2007 is greater than 2003.
. Falsg, The MAD for 2003 will be greater than the MAD of 2007.
. _Falog. The bushels of corn production in 2007 were more consistent than in 2003.

a o oe

0

4 A9, 28, 24, 3, 23, 26, 36, %
24 2k A8 30 3L 37 Ho 43

How would an outlier of 80 for the data above affect the mean and median? (Write sentences and be
specific! Hint: include the word increase or decrease and a specific value.)

If an outlier of 80 is added to the data set, the mean would _(UN0AL s L)
L]
If an outlier of 80 is added to the data set, the median would ___LinCaL st
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5. Mark must have an average (mean) of at least 90 in math class to be allowed to go on a trip. His

scores so far were 93, 90, 89, 88, 92, 86, 88, 91, 83. What score does Mark need on the last
assessment to have an average of at least 90?

: ¥ *T934Q04 X9 % = ) .
Q . e — - s Lok . .

A, O ~ |\
—_— .. 2 10 Score Needed: 09 |
N x' X < Q00 . -
L. -feo X =009
6. The Hancock family is going to be buying a used car soon. They research the prices and displayed the
data in the box plots below:

Prices for used cars ($)

Boone County

Autos . D:_—’ QK= 140300 {oono = 2009
Hancock's Cars .—m —e
i I L ’I ; a: i : " :“L?,\ s ‘?J._"I. = " oo - _f DCV\
6,000 8,000 10,000 12,000 14,000

a. What is the difference between their interquartile ranges? :"’/ onty
b. Which auto dealership box plot is more symmetrical? t‘xgjn €.
c. Trueor False: The MAD for Hancock's cars is significantly larger than Boone's Cars. fFalde
d

" a " anm r e, o
True or False: 75% of Boone County's cars are more expensive than Hancock's Cars. o 2f | /L/)
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